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Ｐ１０２  ３章の章末問題（まずは４番までを宿題として２５分程度） 

１． 

（１）                                   （２） 

 

 

 

 

 

 

 

（３）２ｘ＋４＝１０                     （４）９ｘ－７＝１１ 

      ２ｘ＝１０－４                           ９ｘ＝１１＋７ 

      ２ｘ＝６                                 ９ｘ＝１８ 

        ｘ＝３                                   ｘ＝２ 

 

（５）４ｘ＋９＝ｘ                        （６）２０－２ｘ＝３ｘ 

      ４ｘ－ｘ＝－９                            －２ｘ－３ｘ＝－２０ 

        ３ｘ＝－９                                 －５ｘ＝－２０ 

          ｘ＝－３                                     ｘ＝４ 

 

（７）７ｘ＋９＝６ｘ＋４                  （８）３３＋ｘ＝１２－２ｘ 

      ７ｘ－６ｘ＝４－９                        ｘ＋２ｘ＝１２－３３ 

          ｘ＝－５                                ３ｘ＝－２１ 

                                                    ｘ＝－７ 

 

（９）４ｘ＋２＝５ｘ－９                  （１０）３３－ｘ＝ｘ＋４９ 

      ４ｘ－５ｘ＝－９－２                        －ｘ－ｘ＝４９－３３ 

        －ｘ＝－１１                               －２ｘ＝１６ 

         ｘ＝１１                                      ｘ＝－８ 

 

（１１）－５＋１９ｘ＝４ｘ－５            （１２）２４ｘ＋８＝９ｘ－２２ 

       １９ｘ－４ｘ＝－５＋５                     ２４ｘ－９ｘ＝－２２－８ 

          １５ｘ＝０                              １５ｘ＝－３０ 

              ｘ＝０                                  ｘ＝－２ 

 

（１３）３０００－１１ｘ＝２４００－５ｘ 

        －１１ｘ＋５ｘ＝２４００－３０００ 

        －６ｘ＝－６００ 

           ｘ＝１００ 
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 （１４）２３０＋４７ｘ＝６１０＋２８ｘ 

         ４７ｘ－２８ｘ＝６１０－２３０ 

         １９ｘ＝３８０ 

             ｘ＝２０ 

 

２． 

（１）５（ｘ－８）＝ｘ                   （２）ｘ－２（３ｘ＋１）＝１８ 

      ５ｘ－４０＝ｘ                           ｘ－６ｘ－２＝１８ 

       ５ｘ－ｘ＝４０                           －５ｘ＝１８＋２ 

          ４ｘ＝４０                            －５ｘ＝２０ 

            ｘ＝１０                                ｘ＝－４ 

 

（３）３（３ｘ＋２）＝－６（２－ｘ）     

      ９ｘ＋６＝－１２＋６ｘ 

      ９ｘ－６ｘ＝－１２－６ 

           ３ｘ＝－１８ 

             ｘ＝－６ 

 

 

（４）４（ｔ－１）＋３（３ｔ＋５）＝２ｔ 

       ４ｔ－４＋９ｔ＋１５＝２ｔ 

       ４ｔ＋９ｔ－２ｔ＝＋４－１５ 

         １１ｔ＝－１１ 

             ｔ＝－１ 

 

３． 

（１）３．５ｘ－７＝－１．５ｘ－７         （２）０．２ｘ－４＝０．１ｘ＋４ 

       ３．５ｘ＋１．５ｘ＝－７＋７              １０倍して 

        ５ｘ＝０                                 ２ｘ－４０＝ｘ＋４０ 

          ｘ＝０                                 ２ｘ－ｘ＝４０＋４０ 

                                                   ｘ＝８０ 
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（３）                        （４） 

 

 

 

 

 

 

 

 

 

 

 

（５）０．３（ｘ＋１）＝０．２ｘ            

    １０倍して 

３（ｘ＋１）＝２ｘ 

      ３ｘ＋３＝２ｘ 

      ３ｘ－２ｘ＝－３ 

        ｘ＝－３ 

 

（６）１．２ｘ＋３．１＝０．８ｘ＋０．３ 

     １０倍して 

     １２ｘ＋３１＝８ｘ＋３ 

     １２ｘ－８ｘ＝３－３１ 

      ４ｘ＝－２８ 

        ｘ＝－７ 

 

（７）６００ｘ＋２４００＝１０００ｘ 

     ２００でわって 

       ３ｘ＋１２＝５ｘ 

       ３ｘ－５ｘ＝－１２ 

        －２ｘ＝－１２ 

            ｘ＝６ 

 

 （８）３０（－ｘ＋２）＋１２０＝２４０ 

      ３０でわって 

           －ｘ＋２＋４＝８ 

           －ｘ＝８－４－２ 

           －ｘ＝２ 

             ｘ＝－２ 
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４． 

（１）ｘ：１５＝３：５                    （２）１２：９＝ｘ：１２ 

      ５ｘ＝４５                                 ９ｘ＝１４４ 

        ｘ＝９                                     ｘ＝１６ 

 

（３）７．２：２．４＝６０：ｘ            （４） 

      ７．２ｘ＝１４４ 

            ｘ＝２０ 

 

 

 

 

 

（５）ｘ：（１０－ｘ）＝２：３             （６）（ｘ－４）：３＝ｘ：４ 

      ３ｘ＝２（１０－ｘ）                      ４（ｘ－４）＝３ｘ 

      ３ｘ＝２０－２ｘ                          ４ｘ－１６＝３ｘ 

      ３ｘ＋２ｘ＝２０                          ４ｘ－３ｘ＝１６ 

      ５ｘ＝２０                                  ｘ＝１６ 

        ｘ＝４ 
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